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NEW QUESTION 1

You are asked to create a method that accepts an array of integers and returns the highest value from that array.

Given the code fragment:
class Test{

public static void main(String[] args)

int numbers[] = {12,

int[] keys = findMax (numbers) ;

/*¥ line nl */ {

int[] keys = new int[3];

/* code goes here*/
return keys;

}

Which method signature do you use at line n1?

A. public int findMax (int[] numbers)
B. static int[] findMax (int[] max)

C. static int findMax (int[] numbers)
D. final int findMax (int[] )

Answer: C

NEW QUESTION 2
Given the code fragments:

Person.java:

public class Person |
String name;
int age;

public Person(String n, int a)
name = n;
age = a;

}

public String getMName () {
return name;

}

public int getAge () |
return age;

}
}

Test.java:

public static void checkAge (List<Person> list,

for (Person p : list) {
if (predicate.test(p)) {

System.out.println(p.name +

}

public static void main(String(] args)

Lisgt<Person> 1Llist = Arrays.aslList (new Person("Hank",
new Person("Charlie",
new Person("Smith",

/fline nl
}

Which code fragment, when inserted at line n1, enables the code to print Hank?
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A
checkage (iList, ( ) =-> p. get Age ( ) > 40):;

.r

checkAge (1List, Person p —-> p.getige( ) > 40);

"

checkARge (ilist, p —-> p.getRhRge ( ) > 40);

checkage (iList, (P2rson p) -> { p.getARge() > 40; 1}):

w

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 3

Given:
String stuff = "TV";
String res = null;

if (stuff.equals("TV")) {

res = "Walter":;
} else if (stuff.equals("Movie™))} {
res = "Wwhite";
} else |
res = "No Result";
}
Which code fragment can replace the if block?
A
stuff.equals (“TV") ? res= “Walter” : stuff.equals (“Movie”) 2
res = “White” : res = “No Result”;
B
res = stuff.equals (“"TV") ? “Walter"” else stuff.equals
(“Movie™)? “White” : “No Result”;
C
res = stuff.equals (“TV"”) ? stuff.equals (“Movie”)? “Walter” :
“White” : “No Result”;
D
res = stuff.equals (“IV"”)? “Walter” : stuff.equals (“Movie”)?
“White” : “No Result”;
A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

NEW QUESTION 4
Given the code fragment:
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public static wvoid main (String[] args) {
String[] arr = (“Hi"”, “How"”, “are”, “You");
List<8tring>» arrlList = new ArrayList<> (Arrays.asli=st (arr);
if (arrList.removeIf((String =) -> (return s.length(}) <= 2;})) {

System.cut.printlni=z + “removed™)”’

}

What is the result?

A. Compilation fails.

B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 5
Given this code for a Planet object:
public class Planet {
public String name;
public int moons;

public Planet (String name, int moons) {
this.name = name;
this.moons = moons:

And this method:

public static woid main (String[] args) {
Planet[] planets = {
new Planet ("Mercury”, 0),
new Planet ("Venus", 0),
new Planet ("Earth"”, 1),
new Planet ("Mars"”, 2)

System.out.println(planets);

System.out.println(planets[2].nane) ;

System.out.println(planets(2].moons) ;
}

What is the output?
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A
planets
Earth
1

B
[LPlanet=s.Planet; @3154kL9742
Earth
1

C
[LPlanets=.Planst; @15dkL2742
Planets. Planetladiadayc
1

1]
[LFlanst=. FPlanst; 31542742
Planets. Planest@adiadeYc
[LPlansets . Moon; @7/852=922

E
[LEPlanet=s. Planet; @15dkL9742
Wanus
O

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Answer: C

NEW QUESTION 6
Given:

public class Test {

public static void main(Stringl[] args) {
Test ts = new Test():
System.out.print (i1sAvailable + " ");
isAvailable= ts.doStuff();
System.out.println(isAvailable);

}

public static boolean doStuff() {
return !isAvailable;

}

static boolean isAvailable = tru

1L

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: C
Explanation:
® ; x

Console 15
true false

Completed with exit code: 0

NEW QUESTION 7
Given the code fragment:
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public static voild main(Stringl] args) |
LAt G4l = 03
Znt AT = R

Fort (11 = Op 11 # 43+ L@ 34 = 34 & 23 o

System.out.printiii ¥ ™ "i;

'
What is the result?

A 24

B.0246

c.0214

D. Compilation fails

Answer: C

NEW QUESTION 8
Given:

public class App {
int count;
public static void displayMsg() {

System.out.println("Wwelcome Visit Count: "

}

public static void main(Straing([] args) {

App.displayMsg();
displayMsg ()

}

What is the result?

A. Welcome Visit Count:0Welcome Visit Count: 1
B. Compilation fails at line n2.
C. Compilation fails at line nl.
D. Welcome Visit Count:0Welcome Visit Count: O

Answer: C

Explanation:

public class hpp {
int count:
public static wolid displayMsg({) {
8 System.out.printlin{"Welcome Visit Count:
1
public sztatic woid main{String[] args} {
App.displayMsg();
displayMsg();
1
}

NEW QUESTION 9
Given the code fragment:

public static wvoid main(Stringl[] args) {
LocalDate date = LocalDate.of (2012, 1,
date.plusDays (10) ;
System.out.println(date);

}

What is the result?

A. 2012-02-10 00:00

B. 2012-01-30

C. 2012-02-10

D. A DateTimeException is thrown at runtime.

Answer: B

Explanation:
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Mainjava A
1 import java.time,LocalDate;
1mport java. time.Month;

4 public class Main {

5 public static void main{String[] args) {

i LocalDate date = LocalDate.of(2012, 1, 30);
] date, plusDays(18);
System,out.println(date);

5}

10 ],

NEW QUESTION 10
Given:

public class Fieldinit {

char c:
boolean b:
tloat £:

void printAll ()
System.out.println

e

System.out.
System.out.println

}

A
C:
b = false
£f = 0.0
B
c= null
B = true
£f =0.0
C
=0
b = false
£ .0t
3}
c= null
B = false
£f = 0.0F
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A
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jova version “1.8,0.31"

Java(T) SE Runtime Environment (build 1.8.0.31-b13)

Java HotSpot(TW) 64-Bit Server W (build 25.31-b87, mixed mode)
» jovac -closspath . :/run_dir/junit-4,12, jar:/run_dir/hamcrest-
ore-1.3. jar:/run_dir/json-simple-1.1.1, jar -d . Main,jova

» jova -classpath . :/run_dir/junit-4, 12, jar:/run_dir/hancrest-c

re-1.3. jar: /run_dir/json-simple-1.1.1, jar Main
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NEW QUESTION 10
Given:

public static void main(String[]
boolean a = new Boolean(Boolean.valueOf (args/|
boolean b = new Boolean{args[l]]}:
System.out.println(a +

bt

-

And given the commands:
javac Test.java

java Test 1 null
What is the result?

A. 1 null

B. true false
C. false false
D. true true

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 13
Given:

interface Readable |

public wveid readBook () ;
public wvoid setBookMark () ;

}

abstract class Book implements Readable
public void readBook ()

£f line ne

—lass EBook extends Book |
public void readBook ()

/7 line n4
'

And given the code fragment: Book book1 = new EBook(); bookl.readBook();

Which option enables the code to compile?

&) Replace the code fragment at line nl with:
class Book implements Readable

© B) At line n2 insert:

public abstract wvoid setBookMark();

) Replace the code fragment at line n3 with:
abstract class EBook extends Book |

~ D) At line n4 insert:

public void setBookMark()

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 18
Given:
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class Product
double price;

public class Test |

public wvoid updatePrice (Product product, double price)

price = price * 2;
product.price = product.price + price;

H
public static void main(String[] args) {

Product prt = new Product ();
prt.price = 200;
double newPrice = 100;

Test £t = new Test () ;
t.updatePrice (prt, newPrice) ;

System.out.println(prt.price + " : " + newPrice);

H

What is the result?

A. 200.0:100.0
B. 400.0 : 200.0
C. 400.0 : 100.0
D. Compilation fails.

Answer: C

NEW QUESTION 19
Given:

class H O
Static int H.:
ST s
public static wold main(Stringl[] args) |
Hoxl = new ()
X ®2 = new X();

wlopew= 33
#l.] = 4;
2.1 = 5;

HZ.] = 6B;
Svstem.out.println
®1.1 + " " +
T, 0 W R
®2.1 + " " 4+

A Z iy 1

}

What is the result?

A.3456
B.3436
C.5456
D.3646

Answer: C

NEW QUESTION 22
Given the code fragment:

LocalDateTime dt = LocalDateTime.of (2014, 7, 31, 1,
dt.plusDays (30} ;
dt.plusMonths (1) ;

System.out.println(dt.format (DateTimeFormatter.IS0O DATE TIME});

What is the result?

A. An exception is thrown at runtim
B. 2014-07-31T01:01:00

C. 2014-07-31

D. 2014-09-30T00:00:00

Answer: B
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NEW QUESTION 23

Given the code fragment:

7. StringBuilder =hl = new StringBuilder ("Duke");
8. String strl = sbl.toString();

9, // insert code here

10. gyvstem.out.print (strl == =tr2);

Which code fragment, when inserted at line 9, enables the code to print true?

A. String str2 = strl;

B. String str2 = new String(strl);
C. String str2 = sbh1. toString();
D. String str2 = "Duke";

Answer: A

NEW QUESTION 25
Given the code fragment:

public static void main(String[] args)
LocalDate date = LocalDate.of (2012, 1, 30);
date.plusDays (10) ;
System.out.println(date) ;

What is the result?

A. 2012-02-10

B. 2012-01-30

C. 2012-02-10 00:00

D. A DateTimeException is thrown at runtime.

Answer: C

NEW QUESTION 30
Given the code fragment:

public static void main(String[] args) {
String myStr = "Hello World ™;
myStr.trim() ;
int il = myStr.indexOf (™ ");
System.out .println (il);

}

What is the result?

A. An exception is thrown at runtime.
B.-1

C.5
D. 10

Answer: A

NEW QUESTION 31
What is the name of the Java concept that uses access modifiers to protect variables and hide them within a class?

A. Encapsulation
B. Inheritance
C. Abstraction

D. Instantiation
E. Polymorphism

Answer: A
Explanation:

Using the private modifier is the main way that an object encapsulates itself and hide data from the outside world.

NEW QUESTION 34
Given the code fragment:
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int wd = 0;

Straing days[] = ("sun”, “mon'", “wed”, “sat");
for (String s:days) |
awiteh (s) {
case "“sat®:
case “=un":

wd == 1:
break
case “mon'
wd++
case “wed":
wd += 2

}
System.out.println(wd) ;

What is the result?

. Compilation fails.

Answer: A

NEW QUESTION 35
Given the code fragment:
public static void maini(Stringl[] args) |

StringBuilder =k = new StringBuilder ("Java™);
String = = "Java" ;

if (=gb.toString() .eqguals(s.toString()))
gystem.out.println("Match 1");
Voelzge 1f (sh.equalsi=)) |

gystem.out.println("Match 2");
Voelze

System.out. println("No Match™);

'
What is the result?

A. Match 1

B. Match 2

C. No Match

D. A NullPointerException is thrown at runtime.

Answer: A
NEW QUESTION 36
Given:

class Caller |
private wvoid init () {

System.out.println(™Initialized”);

private wvoid start () {

init () ;
System.out.println(“Started”);
}
}
public class TestCall {
public static void main(Stringl[] args) {
Caller c — new Caller{);
c.start () ;
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.
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B. InitializedStartedInitialized
C. InitializedStarted
D. Compilation fails.

Answer: D

NEW QUESTION 39
Given the code fragment:

3. public static wvoid main(String[] args) /{

e int ¥ = 6;

5. while (isAwvailable(x}} {

6. System.out.print (x);

7.

8. }

Q. 1

10.

11. public static boolean isAvailable (int x)
12 return ——x > 0 ? true :| false;

13.

Which modification enables the code to print 543217?

A. Replace line 6 with System.out.print (--x);

B. Atline 7, insert x --;

C. Replace line 5 with while (is Available(--x)) {

D. Replace line 12 with return (x > 0) ? false : true;

Answer: C

NEW QUESTION 40
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC

NEW QUESTION 43
Given the code fragment:

public static voild main{String[] args)

int[][] arr = new int [2] [4]:
arr[0] = new int []{1l, 3, 5, 7}:
arr[l] = new int []{1l, 3};
for {(int[] a : arr)

for {int 1 : a)

System.out.print (i+ ™ “);
}

System.out.printlni);

}

What is the result?
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A Compilation fails.

(.

'_'-
TR

1 3

followed by an ArrayIndexOutOfBoundsException

L
(¥
Ln
-]

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: E

Explanation:
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NEW QUESTION 48
Given:

155 MyClass |

public static void main (5tring [J orgs) {
it [0 are =aew int [2] [4];

ﬂ‘r::}i - N ing [.i ['1 Jy 2y '.IE:
arr[1] = new int [J {1, 3}
for (int [1a : arr) {

far (int 1 :a) {

Svstem,out.print(is * °);
i

System.out.println ();
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public class App {
public static void main(String[] args) {
int 1 = 10;
int 3 = Z20;
int k =(3 += 1}/ 5;
System.cut.print{i + ™ : ™ + 3 + ™ : ™ + k};

1
What is the result?
A.10:30:6
B.10:22:22
C.10:22:20
D.10:22:6

Answer: A

NEW QUESTION 49
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